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1. / /(x—i—y)dydx:i
o Jo

2. Evaluate // 4xy dA, where R is a rectangle with vertices (0, 0), (0, 5), (3,5), (3,0).
R

Ans = 225

1 V1—z2 5
3. / / 5(z% +y%)? dydr = 2w
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4. / / rsin(rf) dddr = _1_
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5. Find the 3rd Taylor polynomial for sinx + cosz at ¢ = 0.
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(6 4) / / e dydzx.
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(8 &) / / 4e¥ dydz.
0 2x
1,1
(SA\)/ / y — x| dxdy.
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(8 %) Find the volume of the solid region bounded by the plane x + 2y + z = 2, and
TY, Tz, Yz planes.

x
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(6 %) Find / /R m d A, where R is the region enclosed by y = x°,y = 4 and
2 = 0 in the first quadrant (% — % *2).

(8 4 ) Find the volume of the solid region bounded by the surface f(x,y) = 267" and the
planes 2 = 0,y =0,y = randx = 1.

(8 %) Find the volume of the solid region lying between the surface 2 = /9 — 22 — y2 and
the circular region z? + y2 < 1 on the 2y plane.
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(10 &%)
(a) Write down the 3rd Taylor polynomial for e” at ¢ = 0.

(b) Use (a) to obtain the 67°d Taylor polynomial for e ~* “ate = 0.

1
(c) Use (b) to approximate(3T 117) / 6_5(72 dx.
0

(10 )

(a) Write down the 4th Taylor polynomial for In(1 + x) at ¢ = 0.

(b) Use the 4th Taylor polynomial from (a) to approximate(3T 1) In 2.
(c) Use (a) and (b) to further approximate(iT i2) In(8.8).
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